RAMAKRISHNA MISSION VIDYAMANDIRA

(Residential Autonomous College under University of Calcutta)

SECOND YEAR
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Date : 18/03/2015 PHILOSOPHY (Honours)
Time : 1lam-1pm Paper: IV Full Marks : 50
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English Version : [Use a separate answer book for each group]

Group—A

1. Answer any five questions of the following : (5x5)

a)
b)
c)
d)
e)
f)

9)
h)

b)

What is innate idea? Give example.

How the ideas are originated, according to Locke?

What Locke meant by the ideas of modes?

What is the distinction between primary quality and secondary quality?
What is scepticism? —Discuss after Hume.

Make a difference between antecedent and consequent scepticism.
What is impression, according to Hume?

What is idea, according to Hume?

Group—-B

Determine the following as tautologous, self-contradictory or contingent by the truth table
method : (any two) (2 x 21%)
) (p>a)=[(pva)=d]
i) [po(@@on]=l(p>9)>(p>r)]
i) [(p>09)-(@a>pl=Lp-a)v(~p-~a)
Test the validity of the following arguments by truth table method : (any two) (2 x 21%)
i) (CvD)>(C-D)

C-D

..CvD
i) (GvH)>(G-H)

~(G-H)

.. ~(GvH)
iii) (Ao>B)-(C>B)

Bo~B

L~Av~C

Distinguish between rules of inference and rules replacement regarding formal proof. (3)
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b) Construct formal proof of validity for the following arguments : (any three) (3x4)

) ToU-V)
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SToW
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JolL
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iii) BvC
W oW

v) (H>P)-(So>W)
S(HvS) o (PvW)
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